
What’s in the Birdfeeder Arm :-

Top

Support x 2

Back

Spacer 1

Spacer 2

Screws - 10 x M2 8 mm   

Nuts – 10 x M3 

Top

Support 

Support

Back

Spacer 1

Spacer 2

Screws - 10 x M2 8 mm   Nuts – 10 x M3 

Birdfeeder Arm Kit Checklist
Open your box and check that you have each of the components  displayed.              



Assembling the Birdfeeder Arm :-
The bird feeder arm is simple to assemble. Using the 10 screws 

and nuts provided, assemble the feeder as seen in the image. 

Screws - 10 x M2 8 mm   

Nuts – 10 x M3 



Positioning the Birdfeeder :-
Finally, using the 10 screws and nuts provided assemble the feeder as seen in the image below.

Adding a bottle

You can use a 70 cl bottle with the bird feeder. Just unscrew the lid, add some holes in the side and allow the birds to access the feed using 

inserted sticks. The food will flood and block the hole (and so not fall out) until eaten by a bird. 


	Slide Number 1
	Slide Number 2
	Slide Number 3

